6.2 Practice - Grouping

Factor each completely.

1) 4073 — 8r* — 25r +5 2) 3523 —102% — 56z + 16
3) 3n®—2n?—9n+6 4) 1403 +100* — Tv — 5

5) 15b% + 21b% — 35b — 49 6) 62 — 48x% + 5x — 40

7) 323+ 1522 + 22 + 10 8) 28p% +21p? 4+ 20p + 15
9) 351% — 2822 — 20z + 16 10) 7n®+ 21n2 — 5n — 15
11) Tzy — 497 + 5y — 35 12) 421 — 4972 + 181 — 21
13) 32xy +402% + 12y + 15z 14) 15ab — 6a + 5b% — 20
15) 16xy — 56z + 2y — 7 16) 3mn — 8m + 15n — 40
17) 2zy — 8z + Ty® — 28y°x 18) bmn +2m — 25n — 10
19) 40xy + 35z — 8y* — Ty 20) 8ry + 56z —y — 7

21) 32uv —20u+24v — 15 22) 4uv + 14u? + 12v + 42u
23) 10zy + 30 + 25z + 12y 24) 24zy + 25y% — 20z — 303°
25) 3uv + 14u — 6u® — Tv 26) 56ab+ 14 — 49a — 16b

27) 16zy — 3z — 62% + 8y
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6.2

Answers - Grouping

1) (8r2—=5)(5r —1) 1) (Te+5)(y—17) 21) (4u+3)(8v—5)
2) (522 —8)(Tz —2) 12) (724 3)(6r — 7) 22) 2 3)(20 -+ )
3) (n*—3)(3n—2) 13) (8z 4+ 3)(4y + 5z) 23) (524 6)(2y +5)
4) (20— 1)(7v +5) 14) (3a + b)(5b —2)

5) (3b2—T)(5b+7) 15) (8z+1)(2y —7) 24) (4r —5y?)(6y —5)
6) (62%+5)(z —8) 16) (m+5)(3n —8) 25) (3u—T7)(v —2u)
7) (322 +2)(x +5) 17) (22 +7y%)(y — 4x) %) (Ta—2)(8b—7)
8) (Tp*+5)(4p+3) 18) (m —5)(5n+2)

9) (7% — 4)(5z — 4) 19) (52 — y)(8y +7) 27) (22 +1)(8y — 32)
10)(7n% — 5)(n + 3) 20) (82 — 1)(y +7)
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